HOMOGENEOUS SYSTEM OF EQUATIONS

Wednesday, December 1, 2021 2:43 PM

A SYSTEM OF HOMOGENEOUS LINEAR EQUATIONS:
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(c) Working Rule to solve Homogeneous Equations
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SOME SOLVED EXAMPLES:
X1 — Xy + X3 = 0

1. Findthe solution of the system givenby  x; + 2x, + x3 =0
ZX1+Xz+SX3 =0
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x1+2x2 +4‘X3 +X4 =0
2. Solve the following system of linear equations 2x; + x, + 5x3 + 8x4, =0
X1+ 4x, +6x3 —3x, =0
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3. Determine the values of A for which the following system of equations possess a non — trivial solution and
3x1+x3—Ax3 =0
obtain these solutions for each value of A. 4xq — 2x, —3x3 =0
2Ax1 +4x5 + Ax3 =0
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A
\%/ o4 Xy — s+ x4 =0 3x; +4x; —x3—9x, =0

. v 2X1+3x,+2x3—3x, =0
4. Solve (i) x1—x3+2x3—x,=0 (ii) o 1+x in 3_ 12; 0
3xl+X2+X4:0 1 2 3 4

X1+3xZ+13X3 +3X4 =0

12/3/2021 10:29 AM
5. Discuss for all values of k, the following system of equations possesses trivial and non — trivial solutions
2x +3ky+ Bk +4)z=0
x+k+4dDy+U@k+2)z=0
x+2(k+1)y+Bk+4)z=0
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Applying  Riz we have
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